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int x|3];
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float y[100];
double z[10];

char c[32];
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printt (“%d”, x[2]);
Qo o 18X al,l gl pare ;o 1, YT Jlode ) oleitl jews ™
x|0] =23;
int x[5], 1; 3 S!w Lcoc\i!ﬂ 3 e, eolawl glp
for (1=0;1<5;1++) QSS oo oolawl J1L,SG slaaidl>

scanf(“%d”, &x|[1]);

for (1=0;1<5;1++)
printf(“*%d\n”, x[1]);

for (1=4;1>=0;1--)
printf(*%d\n”, x[1]);
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tfinclude <stdio.h>
int main()

{

int x[5], 1, sum=0;

printf("Enter 5 numbers:\n"); . _

nter 5 numbers:
1£ 38 ¢ & 1

for (1=0;1<=4;1++) Sum of your numbers is: 74

scanf("%d",&x]1]);

for (1=0;1<=4;1++)
sum=sum-+x]1];

printf("Sum of your numbers 1s: %d", sum);
getch();
return O;
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tfinclude <stdio.h>
int main()

{

Int x|5], 1;

printf("Enter 5 numbers:\n"); Enter 5 numbers:
T 12 @ 93 45 66
for (1=0;1<=4;1++) Inverse of vyour numbers:

scanf("%d",&x|1]); 66 45 93 8 12

printf("Inverse ot your numbers:\n");
for (1=4;1>=0;1--)
printf("%d ", x[1]);

getch();
return 0;
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#include <stdio.h> for (1=1;1<n;1++)

1f (ave|1] > amax)

int main() {

{ amax=ave|1];
const int n=5; p=1;
float ave[n], amax =0; )
int 1, p;

printf("\n max = %35.21, position = %d", amax, p+1);

for (i=0;i<n;i+—|—) getch(); + an average:=11

* an average:l’/

| retumm 0 3 iy
| ; e 10
printf("enter an average:"); ! an average

scanf(”%f”j&a\;e[i]); 19.88,. position =

j

amax = ave|0];
p=0;
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void funcl (int x[]);

. . . AN RN Y NP R PP I N (S
void func2 (int x|], int len); Ol Olye 4 4l pb b @b 4 4l,T Jbo)l sl

it  main() 295 5
d

mt  x[10]; Sl Jobse el bl al olbesS )T lee 4 al,] S
P D9 25 55 D ygo da 4y Wilgl e
func1(x);

func2(x, 10); asie Jeb b glall —
return  0; Job cosl ye & )90 nl 53 a5 asial Job L slal)l —
j | 095 Jloyl b 4 5o Gles )l lgie 0 4l )
volid funcl (int x[10]) 5 olal —
{

L [

vold func2 (int x[], int len)

{

J
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int x|3][4]; S . Rt e
) Y Y
© sl x[O][1]
\ Sl x[1][2]
Y x[2][3]
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#include <stdio.h>
int main()
d
int table[10][10], 1, j;
for (1=0;1<10;1++)
for (1=0;1<10;j++)
table[1][j]=(1+1)*(+1);
for (1=0;i<10;i++)
{for (j=0;1<10;j++)
printf("%4d", table[1][j]);
printf("\n");}
getch;

return 0O;
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void funcl (int x[5][10]);
void func2 (int x[|[10], int len);
int  main()

{
it  x[35][10];

func1(x);
func2(x, 5);
return O;

j

void funcl (int x[5][10])
d

3““

volid func?2 (int x[|[10], int len)
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#Hinclude <stdio.h> void printTable(int table[ ][ 10])
void printTable(int table[][10]); ]
int main() int 1,];
{ for (1=0;1<10;1++)
int table[10][10], i , j; d
for (1i=0;i<10;i++) for (J)=0;)<103++)
for (j=0;j<10;j++) printf("%4d", table[1][1]);
table[1][j]=(1+1)*(j+1); printf("\n");
j
printTable(table); !
getch();
return O;
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int x[4]=1{5,0,3,2};  x[s5]o0]3[2
99 99 4 Gangs al,l 4 s jlade
int y[2][3]= {1,3,4.7,6, 15}
int y[21[3]={{1,3.4},{7,6, 15"
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int x[10] = {12, 43, 3}
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$47,9,0,3},{8,1,3,0}},
$43,7,5,9},{9,9,9,2} } };



!**5 ¢

b asie ol Job Wb wl,l Cay yas o { ORI

I8l s Wb aS gpobe G288 slows conl Sex J..L.M PSR
o 45 J Lgo‘duu 2Slas Wl &ygo ool o 0ll culds  jatuie W3S
e s o ], | Aol 3ls 990 Sl

g yai asliyy 50 Sl S O jsa |y Wbl Job ol g I8 ) sl
Sy by 5 09l ;53 Al cyyai o b eyl Jsb oyl s Jlu )l oS
23,5 Jlo ) alflas )b SO

Dl oo £ o 3l baay],)l il 45T el ALilS A g5 ddocen

15 )] (sl a5 (65lme (sodgazme I s eyl il azg s 4,



>k C by slablals 51 (S sl eolial b cos s 4 ) 55 sleasly,

A0 yoled cud 5 |,

ialad g 035 dabna |, lag)T uSilio 5 ggmme 5 38,5 1, s0e Ve 45wyt sy 2
X

oo ioles |y lo g8 oyl Soozro g A28,5 |y o 90 aS duiugn (sldal

Ao siules ) o ple 90 ] Egemme g a8,5 1, VXV o Slo 90 45T Sunn g (glawls
Sls 5 1) ol OT yolic gm0 g 48,5 1, QT Job g aul)] SO aS sns g =U

—

a2 I8 U Ve lall o cs i ]y (Zlgd slael sloae Ve e a5 an g (slaal

AN N AW



P

laasl, |
G SO LSLQC\:’..‘)T _

Cleatr e LSLM-:,‘)T —
Sl lgie 4 o]l —

L@!“ :.) &



P



